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[image: image4.wmf]    Clues
All of the rows have the same sum

There is a number from 1 to 12 at each of the letters
The number at B is the cube of the number at I

The numbers at F & L have a difference of 4
The number at B is double the number at E

The numbers at E, K & L are consecutive

The number at the letter opposite the first letter of the alphabet is a multiple of 2 & 3
K is half the number at F

The number at C is the square root of the number at G

The highest number is opposite one third of itself

The numbers at A, E and G are perfect squares

The number at G is 1½ times the number at L

The number at I is the only even prime number
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